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CHEMISTRY

RESONANCE ENGLISH

ORGANIC REACTION MECHANISMS-IV

Exercise-1 Part-1

1. Why dehydration of alcohol takes place in acidic medium generally but

not in basic medium

° Watch Video Solution

2.1% alcohols are poor starting material for synthesis of 1-Alkene. Explain

?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ir9IB0xuf1W8
https://dl.doubtnut.com/l/_esmxOXUcuVKR

3. Predict the major product of the acid catalysed dehydration of the
following alcohols :

(c)(CH;),C(OH)CH(CHj), , (iv)(CHs),CCH,OH

o Watch Video Solution

4. When 1-Bromo-1-methylcyclohexane is heated in ethanol for an
extended period of time, three products result : one ether and two
alkenes . Predict the products of this reaction, and propose mechanism

for their formation.Also, mention the major elimination product.

o Watch Video Solution

5. An alkyl halide of formula CgH3Br on treatment with potassium t-

butoxide gives two isomeric alkenes dimethy butane. Isomeric alkene are :

o Watch Video Solution



https://dl.doubtnut.com/l/_esmxOXUcuVKR
https://dl.doubtnut.com/l/_7InsNRhTydtf
https://dl.doubtnut.com/l/_hctPObJahWuv
https://dl.doubtnut.com/l/_80PxdPfFhyI5

CH: o y
NG + Cl ﬁz—@sogewg —X
“NCHs

6. formed

product 'X' is used as:

o Watch Video Solution

7. Bromocyclodecane on heating with ethanolic KOH, produces two

alkenes. Write the two products also mentions the major one.

o Watch Video Solution

8. Which alkyl chloride would yield following pure alkene on reaction with

alcoholic KOH ?

CHy
|
(i)CH3 — C =CHy (ii)CHg — CHy — CHy — CH = CHy (ZZZ)CH

° Watch Video Solution



https://dl.doubtnut.com/l/_80PxdPfFhyI5
https://dl.doubtnut.com/l/_eHIkHN1ZxICC
https://dl.doubtnut.com/l/_lMiYxyT5Usr4
https://dl.doubtnut.com/l/_rGViGx7xX682

9. Predict all the alkenes that would be formed by dehydrohalogenation
of the following halides with sodium ethoxide in ethanol and identify the
major alkene:

(i) 1-Bromo-1-methylcyclohexane, (ii) 2-Chloro-2-methylbutane

(iii) 2,2,3-Trimethyl-3-bromopentane

o Watch Video Solution

CH3 Br | CH,
CHZNHQ

10. If , Then

what wil be the major product of the following reaction


https://dl.doubtnut.com/l/_rGViGx7xX682
https://dl.doubtnut.com/l/_fCImARxibeaZ
https://dl.doubtnut.com/l/_r1u3V2E81Ryt

—> major product

major

product

o Watch Video Solution

1. What are the essential conditions for any reaction to show El1cB

mechanism ?

o Watch Video Solution

12. If ethanol containing EtOD is used as solvent , then deuterium

exchange take place in E1cB mechanism . Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_r1u3V2E81Ryt
https://dl.doubtnut.com/l/_HON5ItmbagsU
https://dl.doubtnut.com/l/_LtDKCaJfJJew

13. If the mechanism is E1cB then the possible products will be :

CH — CH - CH, M |9
l AMeOD

Br

° Watch Video Solution

Exercise-1 Part-2

1. Which of the following reaction is an example of elimination reaction :

CH3;MgBr
A.CH; — CHO —"*% CH, — CH — CH,

H>0 |
OH

B.CH, — |CH _ cH, &% oH, — CH = CH,
A

OH

C.CH, — CH, — OH 2% CH, — CH, —

D.CH; — CH, — COOH % cH, — CH, — COONa + NH,

Answer: B



https://dl.doubtnut.com/l/_J05EBgZCTCMh
https://dl.doubtnut.com/l/_M1ZUTlf7pnta

| ° Watch Video Solution

2. Correct statement for E1 Reaction is :

A. It is a two step process.

B. Rearrangement is possible

C. Good leaving group favours

D. All of these

Answer: D

o Watch Video Solution

3. Intermediate formed during E2 reaction is -

A. Carbocation

B. Carbanion

C. Free radical


https://dl.doubtnut.com/l/_M1ZUTlf7pnta
https://dl.doubtnut.com/l/_BPRnXfVO6Pmo
https://dl.doubtnut.com/l/_rOq3DkvlxXJh

D. Carbene

Answer: A

° Watch Video Solution

EtOH | A
4.CH; — CH — CH — CH3 —— Major elimination product X.
| |

CHg Cl

Xis:

CH
AG%—&H-CH:C%

CH3
&ﬂﬁ—szH—Gm

CyHs
coﬂr—ézzam

oy o

]
D.CH; — C = C — CHj

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rOq3DkvlxXJh
https://dl.doubtnut.com/l/_Toq9h47fFsY8
https://dl.doubtnut.com/l/_ekahPo21FYrO

CH,
| Conc. HySO

5.CH; — C — CHj %ﬁ Major product is :
|
OH

(A)>=\

A.
® =<_
B.
C. (©) >=<_
) >—//
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ekahPo21FYrO

6.In the given reaction :

CH,OH

Conc. Hy S50, .
———— > [X] as major product

[X] will be :
CH,
CH,
(A)
A.
CH,
CH,
(B)


https://dl.doubtnut.com/l/_kV5oRH8nHPja

CH,

CH,
(C)
C.
CH,
CH,
D)
D.
Answer: B

° Watch Video Solution

7.1dentify the major formed in the following reaction

-y, ) o~ g, }



https://dl.doubtnut.com/l/_kV5oRH8nHPja
https://dl.doubtnut.com/l/_m3syey0w7W6R

o C
B.
Z CHp= l i
C 0“
Dy CH:-C=<%-&H£
&‘h&Hs
D.
Answer: B

° Watch Video Solution

8. Which of the following does not represent the correct product?

ne CH
1 A
cH -C-C-Cr
’ b

A s

(B CH—CH-CH-CH, ——> OHrG-on-CH,

B. HO OH °
77 7
¢, CH-C-CCH, ——> Pr-G-C-cH,
HO OH bbu,


https://dl.doubtnut.com/l/_m3syey0w7W6R
https://dl.doubtnut.com/l/_RE9Br6nIlgAI

H.C CH CH,

[ T o, !
(D) CH—G-C-CH, g OH{r ot
HO NH, O CH,

D.

Answer: C

° Watch Video Solution

9. Correct statement for E1 Reaction is :

A. It is a two step process.

B. It is an unimolecular reaction

C. Strong base favours

D. Carbanion is formed during the reaction

Answer: C

° Watch Video Solution

10. Intermediate formed during E2 reaction is -


https://dl.doubtnut.com/l/_RE9Br6nIlgAI
https://dl.doubtnut.com/l/_PSd3g8FZObU4
https://dl.doubtnut.com/l/_CYnA9caFzuCk

A. Carbocation

B. Carbanion

C. Free radical

D. Intermediate is not Formed

Answer: D

° Watch Video Solution

CH3
| AIKOH

N.CH; — C — CH»Br —Z—> Alkene,
\

H

Alkene is -
N
. W


https://dl.doubtnut.com/l/_CYnA9caFzuCk
https://dl.doubtnut.com/l/_heYbkoZSoTbk

C.
(D) /\/
D.
Answer: A

° Watch Video Solution

12. Which of the following compounds undergo 'E2 reaction with

maximum rate?

(A) /{\/ Br

/‘"(”

(B) Br

C.l#


https://dl.doubtnut.com/l/_heYbkoZSoTbk
https://dl.doubtnut.com/l/_BjoQ8EbnJgdV

(D) Q Br

Answer: C

° Watch Video Solution

13. 2-Chlorobutane on treatment with alcoholic KOH/A gives major

product :

A. 2-Butene

B. 1-Butene

C. 2-Butanol

D. 1-Butyne

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BjoQ8EbnJgdV
https://dl.doubtnut.com/l/_xnijtYcm0MZY
https://dl.doubtnut.com/l/_VyExvC7G8jqB

Cl

| ~ Bu
14.CH; — CH — CH — CH; ! f 9 Major Product is :
|

CH;

A.CH; — C =CH — CHj;
|

CH;

CHg

C.CH, = C — CH, — CHj
|

CHy
OH

|
D.CH; — CH — CH — CHj
|

CH;

Answer: B

o Watch Video Solution

15.

MeOK'

> X Major

CH_,-?:H—?(Br)CH:,————

-—>Y Majo
CH, CH, Et,COK Jor

X and Y are respectively :


https://dl.doubtnut.com/l/_VyExvC7G8jqB
https://dl.doubtnut.com/l/_d7k4ISuk7DMh

d -
B en"""cn, M o N

(B) (C}-‘S)ZCM\G--'C/H and CHS\c:C/ -
cH”  NH o cH” e,

\ /CH
C) Both CH/ \CH

H /C(CHa)a
D) Both / \ CH,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_d7k4ISuk7DMh
https://dl.doubtnut.com/l/_vAB3XwtvNlK6

16. Identify the major products in the following reactions ?

CHg

| OH/ A
CH3—CH2—.®|]V—CH2—CH2—CH3———>

CHg
A.CH3 — CH = CH;

B.CHy = CHy

CH,

|
C. CH;CH, — N — OH

|
CH,

D.CoHs; — OH

Answer: B

o Watch Video Solution

17. Reaction intermediate of ElcB reaction is :

A. Carbocation

B. Carbanion


https://dl.doubtnut.com/l/_vAB3XwtvNlK6
https://dl.doubtnut.com/l/_ZblzfwCA2SGs

C.Benzyne

D. Free radical

Answer: B

o Watch Video Solution

18. In which compund D — exchange is possible in presence of

OD~ /D,0?

A. E1

B. E2

C.ElcB

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ZblzfwCA2SGs
https://dl.doubtnut.com/l/_A9hu8i9wFFJk
https://dl.doubtnut.com/l/_bMm26yYkusm2

j\/‘\ KOH. A RBUM. 2 » Major Product is

Major Product is :

19.

OH
o AN
(@)
@ Mo~
C.

F
D)M

D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bMm26yYkusm2
https://dl.doubtnut.com/l/_2yohJ00AROcE

20. Major product of given reaction is -

(S]
O2N — CHy — |O’H — CH3 % Major product

Cl

A.OoN — CH = CH — CH;
B.OoN — CHy; — CH = CH,

C.OzN—CH:‘C—CHg

Cl

D.CH; = |C — CHs

NOy

Answer: A

° Watch Video Solution

Exercise-1 Part-3

1. Match List | (Reaction) with List Il (Type of reaction ) and select the

correct answer using the code given below the lists :


https://dl.doubtnut.com/l/_2yohJ00AROcE
https://dl.doubtnut.com/l/_QqtFg1wa3mAR

List I
(P) D~ :: Hﬁ_) (1) ‘SN1
; Br
‘ CH.
@ "M AckoH @) s2
C?Hs A
Br
OH
(R) H,SO, (3) | Et
A
Cl
2
(S) o (4) E
P
A Q R S
4 2 1 3
8 P QR S
"2 4 3 1
c P QR S
"3 1 2 4
5 P Q R S
"2 1 4 3
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QqtFg1wa3mAR

2. Match reactions written in List-l with their mechanism in List -II.

L [ List-1 \ 1 List-il J

[ Ph—CHz—CH;- Br 24 KOH, Ph-C|)H—CH3+ Ph-CH=CH: ®) \ -
N

(A)
OH

®) lPh—CHz—CHz—-Br £IONa , Ph—GHz-CHz-OF + Ph-CH<=CH \(q) \sNz

[ (© | Ph-CHz-CHz-Br %/E‘o—% Ph-CH=CHz

m
~
—
B

[ (D) Pn-CH;-CHz-BrE!_zi/ELQQ, Ph-CH=CHz + Ph-CD2~CH2Br \(s)

|

° Watch Video Solution

Exercise-2 Part-1

1. The relative rate of acid catalysed dehydration of following alcohols

would be


https://dl.doubtnut.com/l/_QqtFg1wa3mAR
https://dl.doubtnut.com/l/_QsMKcALdeube
https://dl.doubtnut.com/l/_kFVbu5y5bBu3

C'H,
|
CH —CH — CH,

|
1. @( L

CH,

|

(H - CH,— CH,—OH
(O

c CH,OH
Iv. CH,

(:H3

c CH,— CH,

AIIlI >1>1V > 11
B.III > IV > 1> 11

CI>III>1V >1I


https://dl.doubtnut.com/l/_kFVbu5y5bBu3

D.IV > III > 1 > 1II

Answer: D

° Watch Video Solution

2. Which one of following compounds undergoes EI reaction most
readily?

CH;
|

A.CH; — C — CHy, — CH;
|

Br

B. CH3 — CH2 — CHZ — B’I"

C.CH; — CH, — CH, — T

CH;
|

D.CH; — C — CHy; — CH;
|

I

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kFVbu5y5bBu3
https://dl.doubtnut.com/l/_xN2ay2uoAhiG
https://dl.doubtnut.com/l/_je9dWOHCLDRp

3.In the given reaction

[X] as the major product among the elimination products is

Br

\ CH,OH
C—CH; ——[X]
| |

CH,

H,

(A) <>§ _ CH,
A.
®) En,

B.
C.
CH,
(D) QCW
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_je9dWOHCLDRp
https://dl.doubtnut.com/l/_IwVvbuRDUu3f

4. Rank the following compounds in decreasing order of reactivity in

electrophilic aromatic substitution reaction
@O o) @O
N
(1 0] (3) H (4)

Allgtlgtll
B.llgt lli gt |
C.lgtligtll

D.Igt Il gtlll

Answer: A

° Watch Video Solution

5. Which of the following compounds will not undergo azo coupling

reaction with benzene diazonium chloride?


https://dl.doubtnut.com/l/_IwVvbuRDUu3f
https://dl.doubtnut.com/l/_aHBtlGUyzPpF

Br
(Cis)

(A) Me

A.

Br
8 (I (trans)
Me
B.

Br
€ /(:\/r
Me
C.
Me\O/Br
D.

Answer: A

o Watch Video Solution

Ph CH,
H Br CH. H
CH.CH,&P X o Br CHend
(a) CH. H — HBr ) H Ph h—H_B?(—, Y
- Ph CH,

6.
Identify the product of the following elimination reaction X and

respectively with stereochemistry :


https://dl.doubtnut.com/l/_aHBtlGUyzPpF
https://dl.doubtnut.com/l/_R8Pk1TnsiLbp

Ph /CHa H: \C=C/
A (A) /C=C\Ph 77 Crs
Ph  HC CHs
P\ oc” >C=C<Ph
g, @ H o W
CH:  HiC oH
Pcc? e
© 7" " >pn s
C‘ trans
Ph HC P
Ph\c:C/ >c=c<CH
(G s CHs H yans
D ClI
Answer: C

° Watch Video Solution

7. Which mechanism has different reactivity
(1°,2°,3°) than others :

A .Syl

B. Sn2

C.E1

D. E2

order of alkyl halides


https://dl.doubtnut.com/l/_R8Pk1TnsiLbp
https://dl.doubtnut.com/l/_OnUYGFGw0x3y

Answer: B

° Watch Video Solution

8. The correct order of Sy2/E2 ratio for the % yield of product of the

following halide is-

Ph

|
(PYCH; — CH — (lj — CH;,(Q)CH; — |CH — CH — CH;,

I Ph I

(R\CH; — CHy, — I,(S)CH; — CH — lCH — CH,

I
A RgtSgtQgtP
B.RgtQgtSgtP
C.PgtRgtSgtQ

D.QgtPgtRgtsS

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OnUYGFGw0x3y
https://dl.doubtnut.com/l/_edXUQyp9vRBj
https://dl.doubtnut.com/l/_uT8SeeJhM399

H
(1) NaOH (2) PBry, . (3) KOH (4) SOCL, i Produs
! {Aprotic solvent) DMSO

CH,
9.

()(Reactant)

In this reaction | and Il are,
A. Enantiomers
B. Structure isomers

C. Geometrical isomers

D. Identical compounds

Answer: C

o Watch Video Solution

10. Select the incorrect option of the following statements.

A. Bimolecular elimination of alkyl halides is a stereospecific reaction.

B.In Sn2 reaction a single isomer in the only product


https://dl.doubtnut.com/l/_uT8SeeJhM399
https://dl.doubtnut.com/l/_S57AMVwualx0

C. Alcohol dehydrate in strongly basic conditions by E1 mechanism.

D. 3-hydroxypropanal dehydrates in strong basic condition by Elcb

mechanism.

Answer: C

o Watch Video Solution

11. Predict the possible number of alkenes and the main alkene in the
following reaction .

(i) excess CH,l  Heat _
> > Product
NHCH,CH; (i) Ag,0

(A) 2and N\
(C) 4 and H2C=CH:

B 2and 7 N\N\F
(D) 3 and H2C=CHz


https://dl.doubtnut.com/l/_S57AMVwualx0
https://dl.doubtnut.com/l/_ti2uFRTdHWeL

Answer: C

° Watch Video Solution

Exercise-2 Part-2

1. X' is a smallest optically active alkanol. On dehydration it can form Y

number of alkenes (including stereoisomers). On reaction with Lucas
reagent it forms Z number of alkyl halides (including stereoisomers).

Report your answer as ZY.

° Watch Video Solution

2. if the starting material is labelled with deuterium as indicated, predict
how many total deuterium atoms will be present in the major elimination

product ?

HO CH»

HO CD,
D D
Corc WSO, | (b) D>é<H _Cene WSO,
@ e .


https://dl.doubtnut.com/l/_ti2uFRTdHWeL
https://dl.doubtnut.com/l/_bqmGpTdZkPaT
https://dl.doubtnut.com/l/_n8019xgD6Hp7

° Watch Video Solution

3. The total number of alkenes possible by dehydrobromination of 3-

bromo-3-cyclopentylhexane using alcoholic KOH is

° Watch Video Solution

OH

| conc.H2SO.
4.In the given reaction: CH; — CH — CH — CHjy %ﬁ Alkenes

|
Ph

Total number of alkenes (including stereo isomers) formed will be

o Watch Video Solution

Ph/Y Alc. KOH . Alkenes

Br A

5.

the total number of possible alkenes in this elimination reaction is :

[ o~ |


https://dl.doubtnut.com/l/_n8019xgD6Hp7
https://dl.doubtnut.com/l/_7pDNlhHBeoh4
https://dl.doubtnut.com/l/_666pf8ZU5iMW
https://dl.doubtnut.com/l/_dlOvSrdd5WzH

[ W Watch Video Solution J

6. The difference of molecular weights of the major products P and Q

form at the following reactions is

OH

(i) O< + CHal —KO¥4, P (organic product)
CH,

(i) O<I + CH3CH20H —XH4 , Q (organic produc
CH,

° Watch Video Solution

7. Observe the following reaction sequence

OH H ,
Ph __ Conc. H,80,. (boll) . G) —UAH o HPOLA
Ph " » (G) @ (H) o U]

Calculate molecular mass [W] of product | and report your answer as N,

where N =W = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_dlOvSrdd5WzH
https://dl.doubtnut.com/l/_VRbUxsZruX3A
https://dl.doubtnut.com/l/_KJCFeTZOspnO

Exercise-2 Part-3

1. Predict the products expected in the given reaction

. C:HsOH
2-Bromo-1,-dimethylcycopentane ——
A

OCH,
(A)

A.
®) é
B.
ol
C.
OC,H,
© @
D.

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_vm3a4lRZ7eJD

2. Which of the following order is/are correct for the rate of E2 reaction ?

A. 5-Bromocycloheptene > 4-Bromocycloheptene

B. 2-Bromo-1-phenylbutane > 3-Bromo-1-phenylbutane

C. 3-Bromocyclohexene > Bromocyclohexane

D. 3-Bromo-2-methylpentane > 2-Bromo-4-methylpentane

Answer: B::C::D

o Watch Video Solution

3. Which of the following statement (s) is/are true about the following

eliminations ?

1 Lt BuO
a SN T owso (1) \/l\ ko,

A. Hoffmann product is major product in |


https://dl.doubtnut.com/l/_vm3a4lRZ7eJD
https://dl.doubtnut.com/l/_AD8VSDf1jZ8W
https://dl.doubtnut.com/l/_LlefLJ4HuNPK

B. Saytzeff product is major product in |

C. Hoffmann product is major product in Il

D. Saytzeff product is major product in Il

Answer: A::D

° Watch Video Solution

4. In which reaction product formation takes place by Hoffmann rule ?

oe
t-BuO K
(A" G - GH-CH-CHy ——
Hz Br
CH,CH -~
(B) CHg —CH, ~CH-CHy ===+
|
B F
o CH 2
(C) CH,=CH,—=CH-NZ-CH, O,
Sew, S
C CH, :
3n
(D) CH, = CH, - CH - CH,—7—>
|
D ®S(CHL),

Answer: A::B::C::D

| o Watch Video Solution


https://dl.doubtnut.com/l/_LlefLJ4HuNPK
https://dl.doubtnut.com/l/_VU44R2mX9DoR

5. Which of the following compounds can give E1cB reaction ?

A.CF; — CHCI,

B.C¢Hs; — CH — CHyF
|

NO,

C.CH3 — CHy — CHyBr

D.CsHs — ?H — CHy — CHO

OH

Answer: A::B::D

o Watch Video Solution

6. Which of the following statement (s) is/are correct

A.E2 is a concerted reaction in which bonds break and new bonds

form at the same time in a single step


https://dl.doubtnut.com/l/_VU44R2mX9DoR
https://dl.doubtnut.com/l/_mmdKMWztNo0l
https://dl.doubtnut.com/l/_w7Ya1xVheKnW

B. Order of reactivity of alkyl halides towards E2 dehydrohalogenation

is found to be 3= > 2= > 1%

C.In E2 reaction both S hydrogen and leaving group should be

antiperiplanar.

D.In E2 elimination different stereoisomers (diastereomer) converts

into different stereo product .

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_w7Ya1xVheKnW

7. Following graph between AG and reaction progress in for/can be:

A

|
L >

reaction

AG

A. Sy1 reaction

B. E; reaction

C. Aromatic electrophilic substitution

D. Electrophilic addition reaction

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_3ab35g3W6Kpj

8. Which observation will be correct about the major products X and Y of

the following reaction.

D D
SO,Cl, . X a\c.KOH/AA’Y
Peroxide
D D
D Cli
(A) Xis
D D
A.
D D
(o]]
(B) Xis
D D
:
B. (£)
D
(C)Yis
D D


https://dl.doubtnut.com/l/_h86fOFKFE5SL

Answer: B::D

° Watch Video Solution

9. In which of the following reaction, regioselectivity cannot be observed ?

CH.
|3 alc. KOH | A
A.CH; — C|)’ —-CHy - Cl ——

H
CHs
| alec. KOH | A
B.CH; — C —CH; ——
|

Cl

CHg

| ale. KOH | A
C.CH; — C|)’ —CHy — CHy ——

Cl
CHs
| alc. KOH | A
D.CHy;— CH-CH-CH; ——
|

Cl

Answer: C::D

I ° Watch Video Solution


https://dl.doubtnut.com/l/_h86fOFKFE5SL
https://dl.doubtnut.com/l/_hKxsYRlpl4Eb

Cl

| % EtOH
10.CH; — CH, — C — CH, — CH; —2°%
|

CHj

What is/are true about above reaction ?

A. Major product is given by Sy 1 reaction.

B. Through E1 mechanism 3 alkenes are formed.

C. 3-Methylpentan-3-ol is also formed as one of the product

D. Fractional distillation of elimination products will give two

fractions.

Answer: A::B::C

° Watch Video Solution

Exercise-2 Part-4



https://dl.doubtnut.com/l/_hKxsYRlpl4Eb
https://dl.doubtnut.com/l/_Vdmoo3m8fa6P

1. Alcohols undergo acid catalysed elimination reactions to produce
alkenes. Because water is lost in the elimination , this reaction is called
dehydration reaction. Secondary and tertiary alcohols always give E1
reaction in dehydration. Primary alcohols whose B-carbon is branched
also give E1 reaction. The reactivity of alcohol for elimination reaction is
tertiary alcohol > secondary alcohol > Primary alcohol.

Which of the following dehydration product (major ) is incorrect ?

CH,OH
concH,S0O,
A

A.
CH3  OH CHg
‘ | conc. H2SOy |
B.CH; — C —CH—CH3T>CH3—C — CH = CH,
o oy
conc.Hy SOy

CH, CH,
@CHa __coneHSO, ,
D) oH A CH,

D.

Answer: B

| o Wiak A \NtdAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_rvPhCEfswtTr

¢ AAK-LAMI N IR AL AV A®LiYIL"AALYIN] J

2. Alcohols undergo acid catalysed elimination reactions to produce
alkenes. Because water is lost in the elimination , this reaction is called
dehydration reaction. Secondary and tertiary alcohols always give E1
reaction in dehydration. Primary alcohols whose [B-carbon is branched
also give E1 reaction. The reactivity of alcohol for elimination reaction is
tertiary alcohol gt secondary school gt Primary alcohol.

Identify the product in the given reaction :

OH H,SO,
OH » Product



https://dl.doubtnut.com/l/_rvPhCEfswtTr
https://dl.doubtnut.com/l/_k1JjuPsebnFV

Answer: C

o Watch Video Solution

CH,

C.H,
H+ N Mel ) <]
NMe, T)——) M0>N+H ? M (E) Elimination proguct Majo
(2)
CA‘H\ (:'_{1
(X)

<3>ls§’

(F) Substitution product (major)

3.
The incorrect statement about step-1is :
A. It is Sy 2 reaction
B. Only one transition state is formed in this reaction

C. Walden inversion has occurred at reactant 'X'


https://dl.doubtnut.com/l/_k1JjuPsebnFV
https://dl.doubtnut.com/l/_NDoiJ8yfiTsX

D. The reaction has molecularity two

Answer: C

° Watch Video Solution

! C,H,
(@]
H—{.- N.Me, f(\:&;l > Mejl\.J Il H T .9:’{2_)/\_-) (E) Elimination product Major
C,H, CH,
(X) ‘e
©) lSH
4 (F) Substitution product (major)

The product 'E'is :

A.CH; — CHy — CH = CHy
B.CHy; — CH = CH — CH;
C.CHy = CHy

D.CH3; — CH = CH>

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NDoiJ8yfiTsX
https://dl.doubtnut.com/l/_uCnDcKyqaSBM

CH, CH.
I €]
H NMG. Mel > Me,r‘\J‘ I H ? ,..O_ﬂ.{\_) (E) Elimination product Major
’ (1) ‘ (2)
C:H, CH,
(X) :
(]
(3)194

(F) Substitution product (major)

The product 'F'is :

A (A) C2HsSH

CH,
(B) H—-’—- SH
B. C.H,
C.(C) CH3SH
CH,
(D) HS——,——H
C,H,
D.
Answer: C

[ &


https://dl.doubtnut.com/l/_uCnDcKyqaSBM
https://dl.doubtnut.com/l/_Nmcvh0ULtEEq

[ @ Watch Video Solution

Column-1 3 ) Column-2 —

o Q_-O @i Zndust/ A ®) @
HO OH
cl =
m O/ (i) | Conc. HzSO4 @ O

Cl
OH
(1) (iii) HCIVZnCl2 (R)

H S
(V) 6 (iv) | Aqueous AgNOs (S) < X
i (o}

_ Coumn3

6.

The bimolecular reaction is represented by :

A. (IV)(iii),(Q)

B. (1),(ii),(S)

C. (ln),(ii),(P)

D. (I),(i),(R)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Nmcvh0ULtEEq
https://dl.doubtnut.com/l/_wnzRFelyyLKn

Column-1

7.

Column-2 r
o (i) Zndust/A P)
HO_OH
]
() (), (ii) Conc. H2S0s @
‘cl
OH
() (i) | HCUZnCle R)
OH o
(v) O (iv) | Aqueous AgNOs (S)

ROO-O

_Column-3

The dehydration reaction is represented by :

A. (IN)(ii),(R)

B. (11),(iv),(P)

C. (D(i)(S)

D. (IV),(iii),(R)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3SAJMLeWesx1

Column-3 —

Aqueous AgNO3

H
() 6 (iv)
8.

Column-1 Column-2 -
0 @ | zndust/a ®)
HO OH
Cl Tl
() O’ (i) | Conc. H2S04 )
‘cl
OH
(1 (iii) | HCUZNnCle (R)
(8)

The unimolecular nucleophilic substitution is represented by :

A. (),(iii),(Q)

B. (I),(iv),(S)

C. (IV)(iv)(Q)

D. (IV),(iii),(Q)

Answer: D

° Watch Video Solution

Exercise-3 Part-1



https://dl.doubtnut.com/l/_OD1pjtVGD6Nq

1. Identify (X),(Y) and (Z) in the following synthetic scheme and write their
structures.Explain the formation of labelled formaldehyde (HyC *O) as
one of the products when compound (Z) is treated with HBr and
subsequently ozonolysed .Mark the C'* carbon in the entire scheme .

BaCO; + H,804 — (X) gas [C* denotes C''4]

(i) Mg ether LiAIH.
CH, = CH — Br —" "5 (v) 225 (2)
(i) X
(#5i) H30 T

o Watch Video Solution

2. |dentify the set of reagents/ reaction condition X’ and ‘Y’ in the

following set of transformations :

X Y
CH3 — CH2 — CHQBT‘ — Product — CH3 — CH — CH3
|
Br

A. X=concentrated alcoholic NaOH, 80° C, Y=HBr acetic acid , 20° C
B. X=dil.ag. NaOH, 20° C', Y=HBr/acetic acid , 20° C
C.X=dil.ag.NaOH,20°C,Y = Bry /CHCl3,0°C

D. X=conc.alc.NaOH, 80° C, Y=Bry /CHClI3,0° C


https://dl.doubtnut.com/l/_4wlL8bOfOyVg
https://dl.doubtnut.com/l/_WQwO6VljuGO9

Answer: A

° Watch Video Solution

CH,

o Br,/CCl,
/—< m) [f'] — C,HgBr,
H;C OH 5 such products
3. are possible

How many structures of F is possible?

A2

B.5

C.6

D.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WQwO6VljuGO9
https://dl.doubtnut.com/l/_7V4Ao3s4U9hB

4. Which of the reagents on reaction with cyclohexanol gives best yield of

cyclohexene?

A. conc. HCI
B. conc. HBr
C.conc. H3 PO,

D. HCI + ZnCl,

Answer: C

° Watch Video Solution

5. Match the following (one term in column-l may match with more than

one terms in column-ll).

Column | e ! Column il ~
| (A) | CHy —CH-CDj on reaction with CzHsO- gives CHo=CH-CDs | (p) | The reaction is E1
" ‘ r ‘~ |
( (B) | PhCH2CHzBr gives elimination faster than PhCD2CHzBr. The | (q) | The reaction is E2
mechanism is i
(r The reaction is E1 ¢B

PhCH2zCH:Br in presence sence of CzHsOD/CzHsO- gives good

i (C
@ yield of PhCD2CH2Br along with alkene - o ‘
(D) | Ph—CH - CD, and Ph—CH=CHg on elimination, yleld (s) | The reaction is unimolecular “

Br r
alkene at the same rate B —



https://dl.doubtnut.com/l/_rlHj3gnLFjg0
https://dl.doubtnut.com/l/_Ew1N4GpKQPz4

| @ Watch Video Solution J

6. In the following reaction sequence , product 1) and L are formed , K

represents a reagent.

1. Mg/etner

2.CO g M
1. NaBH ? K N Cl -
a. —_— s - J Mo N —_ >
Hex-8-ynal Z=0™ 3.H,0 e Pd/BaSO,

e} quinoline

The structure of the product I is

Me /\/\/\Bf

Mo/
(8) Br
B.

CINAVAVANY
C.

OyMe 8

—

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ew1N4GpKQPz4
https://dl.doubtnut.com/l/_7PzwscBlTET2
https://dl.doubtnut.com/l/_hThU4uOZ11gz

7.1n the following sequence, product I, ) and L are formed. K represents a

reagent.

(1) Mg/ether

Hex-3-ynal (1) NaBH,, I (1) €O, > J K,

(i) PBr; (i) HyO"

HC~ Ny Cl > > L
3 /\/\ﬂ/ Pd/BaSO, quinolin;’

0]

The structure of compound J and K respectively are

- Me, ~—COOH and SOC

' OH
/N / and SOC'?
WA AVAY

O


https://dl.doubtnut.com/l/_hThU4uOZ11gz

Me——\____/—_\----
COOH

(D) Me\___-__:.—..._-_-_./_COOHand CH3S0:C

Answer: A

° Watch Video Solution

8. In the following sequence, product 1) and L are formedK represents a

reagent.


https://dl.doubtnut.com/l/_hThU4uOZ11gz
https://dl.doubtnut.com/l/_BkZuEmLu9GHp

_ (1) Mg/ether
() NaBH, (i) CO, K

(i)PBr; (i) H,0'

H,
H,C N Cl —> L
i Pd/BaSO, quinoline

0O

Hex-3-ynal

A
7

The structure of products L is

) Mes 1O

(8) e /\/\/\CHO

__/=\___/ CHO
(©) Me
C.

(D) Me /\//\/\CHO

Answer: C

o Watch Video Solution

9. The total number of alkenes possible by dehydrobromination of 3-

bromo-3-cyclopentylhexane using alcoholic KOH is

| o |


https://dl.doubtnut.com/l/_BkZuEmLu9GHp
https://dl.doubtnut.com/l/_xMGjQLO6iS0p

I & Watch Video Solution ]

10. An acyclic hydrocarbon P, having molecular fromula CgHy, gave
acetone as the only organic product through the followig sequence of

reaction in which Q is an intermediate organicn compound

4/HgSO
(CeHy0) *

(if) NaBH 4 /ehanol Q
(#i) dil.acid

(#)conc. H,80,
(catalytic amount)

(-H,0) I
> 2 S
() O3 HyC  CHy
(iii) Zn/H,0

The structure of compound P is

A.CH;CH,CH,CH, -C=C - H
B. H3C'H2C' - C=C - CH20H3

H.C
(€) H—c—C=C—CH,
H,C


https://dl.doubtnut.com/l/_xMGjQLO6iS0p
https://dl.doubtnut.com/l/_qSNYCqAhK78t

HG
(B) H,c—C—C=C—H
H,C

Answer: D

o Watch Video Solution

1. An acyclic hydrocarbon P, having molecular formula CsHy, , gave

acetone as the only organic product through the following sequence of

reactions, in which Q is an intermediate organic compound.

(i) Conc. H,S0,
. (catalytic amount)
9) dil. H,SO,/HgSO, a i (-H;0) . j\
(CH (i) NaBH /ethanol (i) O, H.C CH
oHo) (i dil. acid (i) Zn/H,0 : :

The structure of compound Q is

e
() H0—C—CHCH

A. ne

T

C ]
(B) H.CC—C—CH,
HE


https://dl.doubtnut.com/l/_qSNYCqAhK78t
https://dl.doubtnut.com/l/_jFMXKY9BxtYE

H, H
(C) H—C—CH,CHCH
H,C7 g )

C.

D. (D) CH?,CHQCHQCH(OH)CHzCHg

Answer: B

o Watch Video Solution

12. The major product (H) in the given reaction sequence is :

HCN 95 % H»,S0,
CH3—CH2—CO—CH3 s G >

Heat

A.CH; —-CH = C — COOH
CHg

B.CH; — CH = ‘C’—C’N

CH;
OH

|
C.CH; — CH, — C — COOH

CHj

D.CH; — CH = ‘C’—CO—NHQ

CHg

Answer: A

| ° Wiak A \tAAaA CAlLiikiAan


https://dl.doubtnut.com/l/_jFMXKY9BxtYE
https://dl.doubtnut.com/l/_hVzcoxHenFkK
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13. Match the chemical conversion in List-l with the approprotae reagents
in List-ll and select the correct answer using the code given below this

list-

List-4 Listlt

\ \
» ’7—”“——*)- (1) 0 HglOA), 09 NaH,
“ %—m‘ .__,%—'Ott m NaOFE

@ #BH, W H,0, NeOH

;
N

o
gy g Ny

NQO PO NVNLOH PO
S~ L ol= v B~ B~
R n P Un & Un & Un


https://dl.doubtnut.com/l/_hVzcoxHenFkK
https://dl.doubtnut.com/l/_F5LLEhhajeup

Answer: A

o Watch Video Solution

14. In the following reactions :

C.H, Pd-BaSOi; G, L BH,

H, i. H,0, NaOH, H,0
H,0
HgSO.,, H,SO0,

i. EtMgBr, HZO‘

CBHBO g Y
ii. H', heat
Compound X is
0
CH,
A.

OH

(B) @ACHa
B.
OH
© O/\/
C.


https://dl.doubtnut.com/l/_F5LLEhhajeup
https://dl.doubtnut.com/l/_7kr82P3OEZHc

(D) Q\ CHo

Answer: C

° Watch Video Solution

15. In the following reactoins

Pd-Baso,
CgHs CgHg
Hz
H,0
HgSO4, H2804
i. EtMgBr, H,0

CgHgO
i. H*, heat

The major compound Y is

=z
" ©/\/\CH;
~ CH,
(8) ©/\/\

A

ii. Hy0,, NaOH, H,0

X



https://dl.doubtnut.com/l/_7kr82P3OEZHc
https://dl.doubtnut.com/l/_8LcZdD3qbR8T

CH,

CH,
€
C.
CH,
(D) CH,
D.
Answer: D

° Watch Video Solution

16. The number of hydroxyl group(s) in Q is

H,,

HO
H2C CHa

H+ aqueous dilute KMnO, (excess

\

4 /

heat 0°cC



https://dl.doubtnut.com/l/_8LcZdD3qbR8T
https://dl.doubtnut.com/l/_RluevuLC32Yc

| o Watch Video Solution

17. The desired product X can be prepared by reacting the major product
of the reaction in LIST-1 with one or more appropriate reagents in LIST-II

(Given . Order of migratory aptitude : aryl gt alkyl gt hydrogen )

Ph
OH

Me’ Ph
X
USTI LIST-NI
>(,< + HzSO4
(1) l2, NaOH
Me OH 2
Ph
>]\’< +  HNO,
OH 2) [Ag(NH3)2]OH
>S< +  H,S0,
(3) Fehling solution
+ AgNO,;
(4) HCHO, NaOH

(5) NaOBr

AP—1,Q0—23,R—>14,S — 24

B.P—>15,0 —+34,R—45,5S— 3

CP—-15,0—=34,R—5,5S— 24

D.P —+15,0 —-23,R— 15,5 — 23


https://dl.doubtnut.com/l/_RluevuLC32Yc
https://dl.doubtnut.com/l/_eZadEvHoNUUB

Answer: D

° Watch Video Solution

18. LIST-I contains reactions and LIST-Il contains major products.

LIST-Il

R. ﬁ\ + NaOMe ——> 3 >L
Br OMe

S. >|\ + MeBr —— 4 /n\
ONa

AP—15,0—>2,R—3,5—4
B.P—> 14,0 >2,R—>4,5—3
C.P—>14,0 >512,R—>34,5—>4

D.P — 45,0 — 4,R— 4,5 — 34

Answer: B


https://dl.doubtnut.com/l/_eZadEvHoNUUB
https://dl.doubtnut.com/l/_GFwX2BmxCeGQ

° Watch Video Solution

Exercise-3 Part-2 JEE (MAIN ) OFFLINE PROBLEMS

1. Maximum dehydration takes place that of-

o]

OH
M

@
OH

OH

(3)

. OH


https://dl.doubtnut.com/l/_GFwX2BmxCeGQ
https://dl.doubtnut.com/l/_uJHl1fEGWJoK

CH,

4)
OH

Answer: B

° Watch Video Solution

2. During dehydration of alcohols to alkenes by heating with conc.

H,S0, the initiation step is :

A. Protonation of alcohol molecule

B. Formation of carbocation

C. Elimination of water

D. Formation of an ester

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_uJHl1fEGWJoK
https://dl.doubtnut.com/l/_BrCIxTadRCGE

3. Elimination of H Brfrom 2 bromobutane results in the formation of .

A. Predominantly 2-butyne

B. Predominantly 1-butene

C. Predominantly 2-butene

D. Equimolar mixture of 1 and 2-butene

Answer: C

o Watch Video Solution

4. Reaction of trans-2-phenyl-1-bromocyclopentane on reaction with

alcoholic KOH produces

A. 2-phenylcyclopentene

B. 1-phenylcyclopentene

C. 3-phenylcyclopentene

D. 4-phenylcyclopentene


https://dl.doubtnut.com/l/_Kn9o8rsoybw9
https://dl.doubtnut.com/l/_g3CxjqU74h3q

Answer: C

o Watch Video Solution

LAN OH ——

-Bu | Me
Et

L . —

5.

The alkene formed as a major product in the above elimination reaction is

B.CHy = CH,

Me
C.
Me

D.


https://dl.doubtnut.com/l/_g3CxjqU74h3q
https://dl.doubtnut.com/l/_d9nJN07GT6VG

Answer: B

° Watch Video Solution

6.In the reaction

LiAIH. PCly;  Ale. KOH
CH;COOH sA—SB s C.

the product Cis :

A. Acetaldehyde

B. Acetylene

C. Ethylene

D. Acetyl chloride

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_d9nJN07GT6VG
https://dl.doubtnut.com/l/_P3yYKg2nGiv4

7. 2-Chloro-2-methylpentane on reaction with sodium

methanol yields :

CHg

|
(a)CzH5CH2|C — OCHg

CHg

(b)02H5CH2 C - CH2

CH,

(C )CQH5CH = lC— CHS

A. (a) and (c)
B.(c) only
C.(a) and (b)

D. All of these

Answer: D

methoxide in

o Watch Video Solution



https://dl.doubtnut.com/l/_vZ2V7AQdd2co

8. The major product obtained in the following reaction is :

CeHs .

A.CsHsCH = CHCxHs5
B. ( + )CGH5CH(OtBu) CH>CxHs
C. ( — )CﬁH5CH(OtB'U,) CH,CxHs

D. ( + )06H5CH(OtBU) CH>,CxHs

Answer: A

o Watch Video Solution

9. Which of the following , upon treatment with tert-BuONa followed by

addition of bromine water , fails to decolourise the colour of bromine ?


https://dl.doubtnut.com/l/_xPaLxvRZxIg5
https://dl.doubtnut.com/l/_Ic5sWxmcDbbl

CeHs
0

Answer: D

o Watch Video Solution

10. The major product of the following reaction is :



https://dl.doubtnut.com/l/_Ic5sWxmcDbbl
https://dl.doubtnut.com/l/_9xayif4eHyQw

A
.+ OMe
2
B.
OMe
(3)
C.

D.

Answer: D

o Watch Video Solution

Exercise-3 Part-2 JEE (MAIN ) ONLINE PROBLEMS


https://dl.doubtnut.com/l/_9xayif4eHyQw

1. The major product of the reaction is

NE\NOZ/H 2504 R

N
o~
W
S

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cOaqHexqPf2x

2. Which one of the following reagents is not suitable for the elimination

reaction?

avae

X

\ 4

A. Nal

B. NaOH/H,O-EtOH

C.NaOH/H,O

D. NaOEt/EtOH

Answer: A

o Watch Video Solution

3. The major product of the following reaction is :

KOH ,CH3;0H
CH;CHCH,CHCH,CH; ,
[ |

heat
Br Br

A.CH;CH = C = CHCH,CHj



https://dl.doubtnut.com/l/_3PuA6fKy1G0T
https://dl.doubtnut.com/l/_Io9GRNqmRV1h

B.CH, = CHCH = CHCH,CH,

C.CH;CH = CH — CH = CHCH,

Answer: C

o Watch Video Solution

4.The major product of the following reaction is :

cH;

| CyH;ONa
CsHsCH> — C CH,CHy ——
C2Hs0OH

Br

A 06H5CH2 - C = CHCHg
|

CHy

B.C¢HsCHy — C = CH,

CHyCH;
CH;,

|
C.C4H.CH, — C — CH,CH,

|

OC>Hs

D.C¢ HsCH = |C— CH>CHsj;

CHg


https://dl.doubtnut.com/l/_Io9GRNqmRV1h
https://dl.doubtnut.com/l/_iLYT3WSEu0J7

Answer: D

° Watch Video Solution

5. Which of the following will most readily give the dehydrohalogenation

product ?

Br
1 A"

A.
Br
NG
B. =
Br
o (¥
C.

Br
e
D.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iLYT3WSEu0J7
https://dl.doubtnut.com/l/_GSOW9ICsLegD
https://dl.doubtnut.com/l/_oCVHXv7Z7fZN

6. The major product formed in the following reactions is :

NaOCH,(1eq)
>
Heat

Cl

NO:2
CHs
NO,
(1) QC:
CH,
NO,
e
C
CHs
NO,
@) Q—cu
CHs
NO,
-
Cl
CHs


https://dl.doubtnut.com/l/_oCVHXv7Z7fZN

Answer: D

° Watch Video Solution

7. Which of the following compounds will most readily be dehydrated to

give alkene under acidic condition ?

A. 4-Hydroxypentan-2-one

B. 3-Hydroxypentan-2-one

C. 1-Pentanol

D. 2-Hydroxycyclopentanone

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oCVHXv7Z7fZN
https://dl.doubtnut.com/l/_aK7AZ28IqpZD

8. The major product of the following reaction is :

)\;\ KOH alc emess) .
B. e

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Gr7UnT44Nult
https://dl.doubtnut.com/l/_keQQuq8tmtAP

9. The major product of the following reaction is :
I.KOHale.
CH;CH,CH — CH, S
| | II.NaN Hyin liq.N Hs

Br Br
A.CH,CH = C = CH,

D.CH;CH, CH — C H,
| |

NH, NH,

Answer: C

o Watch Video Solution

10. The major product of the following reaction is :

K
X
)
O
I
()

s NaOEt _

OOCH:QH:%

O e


https://dl.doubtnut.com/l/_keQQuq8tmtAP
https://dl.doubtnut.com/l/_qgCXQdYLBkzv

9CH2CH3
(1) HsC—H:C »4 COzCHzCHs

A CHs

(i‘,OaCHz()H:s
B (2) CH3C=CHCHa

C. CH 3 C H 2 C - CH 2
C0,CH,CH;
CH2CHs
(4) HsC W~ OCHzCHs

D COOCHCH,

Answer: B

° Watch Video Solution

APSP PART-1

1.C’H3—C—CH3+PhMgBr—>A@—>BH—f%C
I

Cis:

A.Ph—|C|J’—CH3

o


https://dl.doubtnut.com/l/_qgCXQdYLBkzv
https://dl.doubtnut.com/l/_JVKsff5I8bWR

CHj

|
B.Ph— C — CH;
\

OH

C.Ph— C = CH,
|

CHj

D.Ph — CH — CHj;
\

CHg

Answer: C

o Watch Video Solution

2. The correct increasing order of reactivity for following alkyl halides

towards elimination reaction with alcoholic KOH is :

(1)

CHy CH;
| |
CHj3 — |C’H —CHs (II)CHs — C — CH,CHs (III)CHs — C —CH
| |
a Br a

A llgtlgtll

B.1gt Il gt lll

C.ligtllgtl


https://dl.doubtnut.com/l/_JVKsff5I8bWR
https://dl.doubtnut.com/l/_BycjOLUUzLfn

D. Il gt ll gt |

Answer: C

o Watch Video Solution

3.In the given reaction :

CH,

OH
conc. ;804 (%} as major product

[X] will be :

A. () O':CH’
@)

0O
Yoo


https://dl.doubtnut.com/l/_BycjOLUUzLfn
https://dl.doubtnut.com/l/_UNXhNHkd6F2l

Answer: B

° Watch Video Solution

O OH

, /I\/\ NeOR2_, (Product)

The major product of the above reaction is obtained by mechanism

A. Sy2

B. E2

C.ElcB

D. Sy1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UNXhNHkd6F2l
https://dl.doubtnut.com/l/_1mUepYqOr8MU

5.Select the incorrect option of the following statements.

A. Bimolecular elimination of alkyl halides is a stereospecific reaction.

B.In Sy 2 reaction a single isomer in the only product

C. Alcohol dehydrate in strongly basic conditions by E1 mechanism.

D. 3-hydroxypropanal dehydrates in strong basic condition by Elcb

mechanism.

Answer: C

o Watch Video Solution

6. Complete the following reaction

Foo

....._/( / ‘ Cone, H,80, > Majar prod.2 s
'4

i

OH


https://dl.doubtnut.com/l/_RzaORYTjGyYp
https://dl.doubtnut.com/l/_qXUlGH80zDLW

OH

(1) ,g,//

(2) g_/\
(3) S \/
(4) S \/

_ /4

o Watch Video Solution

Answer: C

7. Which of the following conformations of meso 2,3-dibromobutane will

give bromoalkene with alcoholic KOH ?

A. Gauche form


https://dl.doubtnut.com/l/_qXUlGH80zDLW
https://dl.doubtnut.com/l/_a9gUonW1YXNc

B. Anti form

C. Partial eclipsed form

D. Fully eclipsed form

Answer: A

° Watch Video Solution

8. 2-Bromopentane is heated with potassium ethoxide in ethanol. The

major product obtained is

A. 2-Ethoxypentane

B. pent-1-ene

C. cis-pent-2-ene

D. trans-pent-2-ene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_a9gUonW1YXNc
https://dl.doubtnut.com/l/_OWZPe4zhYFbE

2)H,0’ A

0. OH

Ris:

A. But-1-ene
B. 2-methylbut-1-ene
C. 2-methylbut-2-ene

D. 2-methyl propene

Answer: C

o Watch Video Solution

10. Complete the following reaction

ph)W/ Conc. HBr . NaNH,/NHy(D) .\ ajor product s

OH



https://dl.doubtnut.com/l/_OWZPe4zhYFbE
https://dl.doubtnut.com/l/_Z5JFkAqslMlT
https://dl.doubtnut.com/l/_Exgx3UzG9WNJ

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Exgx3UzG9WNJ

11. The most probable product in the following reaction is :

Oi cH CH,OK

Trans

o,

Qe
0
o)


https://dl.doubtnut.com/l/_b8J3bQ6M1vYb

Answer: C

o Watch Video Solution

12. Complete the

{ S (i) CH,I
N CH,

(i) Ag,0, heat ~

CH CH
B.
\ _
3 C\—CH3
(3) /N
GHyCH,
C.

following

> P, ProductPis:

reaction


https://dl.doubtnut.com/l/_b8J3bQ6M1vYb
https://dl.doubtnut.com/l/_excpHRNf76sB

Answer: B

o Watch Video Solution

13. Which statement is false for elimination reaction .

A. B-elimination is more common than a & « elimination

B. InS3-elimination , formation of multiple bond occur

C. f-elimination may be E1, E2 or E1cB

D. E1 & E2 requires presence of poor leaving group but E1cB requires

presence of good leaving group.

Answer: D

o Watch Video Solution

14. Which of the following statement is correct regarding following

reaction ?


https://dl.doubtnut.com/l/_excpHRNf76sB
https://dl.doubtnut.com/l/_pdA2k4NFLzVQ
https://dl.doubtnut.com/l/_ApUz3ypHMjcW

o + 1-BUOK- LB 9

A. Major product is endocyclic alkene formed according to Saytzeff.

B. Major product is exocyclic alkene formed according to Satyzeff.

C. Major product is exocyclic alkene formed according to Hoffmann.

D. Major product is endocyclic alkene formed according to Hoffmann.

Answer: C

o Watch Video Solution

15. Substrate that show E1 reaction

A.CH3CH>I


https://dl.doubtnut.com/l/_ApUz3ypHMjcW
https://dl.doubtnut.com/l/_vNfaGhR6z8pX

CH,I

CH;

CCH; - C —CH; —1

CH;

Answer: C

o Watch Video Solution

16. Which of the following compound will give three alkenes after

dehydrohalogenation.

A.CHs — CHy, — CHy — CHy; — Br

B.CH; — CHy; — CH — CH;
|

Br


https://dl.doubtnut.com/l/_vNfaGhR6z8pX
https://dl.doubtnut.com/l/_sVQDwXbUc4da

CHy

|
C.CH3; — C — CHj3
|

Br

D.CH; — CH, — CH — Ph
|

Br

Answer: B

o Watch Video Solution

17.

D

) |
PhSO,CH, — CH, — OMe 225 product + PhSO, — CH — CHyOMe

EtOD (recovered reactant)

The product is :

A. PhSO>sCH = CH,
B.CHy, = CH — OMe
C. PhSO3;CHy; — CDyOMe

D.CDy = CH,


https://dl.doubtnut.com/l/_sVQDwXbUc4da
https://dl.doubtnut.com/l/_aypkrEll7sFI

Answer: A

o Watch Video Solution

18. Complete the following reaction
CH., - OH
O HSO.'H , A. The product Ais -

A



https://dl.doubtnut.com/l/_aypkrEll7sFI
https://dl.doubtnut.com/l/_FZBC8NLN35aL

CH,

(4)

Answer: C

o Watch Video Solution

19. Typical features of E2 involve :

A. Two step reaction

B. Second step is the rate determining step

C. Anti-periplanar transition state

D. Formation of a carbanion intermediate, stabilized by conjugation

with a strong -M group.


https://dl.doubtnut.com/l/_FZBC8NLN35aL
https://dl.doubtnut.com/l/_dKFZIfQpfPMo

Answer: C

° Watch Video Solution

20. An alkyl chloride produces a single alkene on reaction with sodium
ethoxide and ethanol. The alkene further undergoes hydrogenation to
yield 2- methylbutane. Identify the alkyl chloride from amongst the
following

A.CICH,C(CH;),CHj

B. CICH,CH,CH,CHj

C.CICH,CH(CH,)CH,CH,

D. CH,C(Cl)(CH;)CH,CH,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dKFZIfQpfPMo
https://dl.doubtnut.com/l/_1wKdrvj2SHYX

21. The relative ease of dehydration of alcohols follows following order :

A.3= > 2% > 1% alc.

B.1= > 2= > 3= alc.

C.2= > 3= > 1% alc

D.3= > 1% > 2= alc.

Answer: A

o Watch Video Solution

22. Which of the following is the correct major product for given reaction

?

OH HS04 Producl
OH A


https://dl.doubtnut.com/l/_oMp3W2W8EbeP
https://dl.doubtnut.com/l/_J0cvexqAryLf

OH

(4)

Answer: B

o Watch Video Solution

23. Which of the following is a 8-elimination reaction ?

aOH 4 — CH,
(1) HO—CH>—CH=-8r e C\H’O :

A

B.(2) CHCls + KOH — CCls


https://dl.doubtnut.com/l/_J0cvexqAryLf
https://dl.doubtnut.com/l/_IDVwzlAkeE2C

(3) C-CH,—CH,-CH,-Br LIS @-—ﬁ
o

I
C. O

(4) CHz=CH-CI — % nie_ oy

D

Answer: D

o Watch Video Solution

24. Correct order of Ey / Sn2 ratio is :

P=_f._.3 =/Y
r Q Br R = CHs-Br S = CHa~CHz-Br

AP>Q>S>R
B.P>Q>R>S
C.R>S>Q>P

D.P>S>Q>R

Answer: A

[ -


https://dl.doubtnut.com/l/_IDVwzlAkeE2C
https://dl.doubtnut.com/l/_cQ4JT76GmM0x

| @ Watch Video Solution

25. The product C of the following sequence is :

é HBr A alc. KOH | p :Eéf 5 C

CH,-Br
e
A.
CH,
Br
(2)
B.
CH,
Br
(3)
C.
CH,
(4)
Br


https://dl.doubtnut.com/l/_cQ4JT76GmM0x
https://dl.doubtnut.com/l/_Jpb76Nc18iAr

Answer: C

o View Text Solution

26. The major product of the following reaction is

CHi\ ~Cl
M c=C
A H” CH,
@ e
VAN
B. H CH,
@ e c
c H/ \Cl
(@) CH~ . o
H” NBr


https://dl.doubtnut.com/l/_Jpb76Nc18iAr
https://dl.doubtnut.com/l/_Eb16DSq9aiGh

Answer: A

° Watch Video Solution

27. What is the correct sequence of reagents for the following conversion

CHg—CH—CH3—)CH3—CH2—CH2—I
|

Br

alc. KOH HI
A —m— ——

aq.KOI{ stoé HI
7 4

B. >
A

ale. KOH HBr/Ry,Oy KI
C. > > >
acetone

D alc. KOH HCI KI

' ’ ’ a,cetoné

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Eb16DSq9aiGh
https://dl.doubtnut.com/l/_APqtZa9Ch88y

28. In which of the following reaction the single product formed is not

the saytzeff's product

CH. CH,
SO,
(L, == (T
A.

C H 3 CH z
OH 77— 7

B.

3 P KoM N
c Er
(4) /k/ _ale KOH A/
o, Br
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_07njfxVB5NqE
https://dl.doubtnut.com/l/_ZB2f8CubWeGv

29.In the following reaction the correct order of percentage of products

X,Yand Zis

CH.OH, CH,CH, ICH;CH, CH,CH,

1 ...ale. KOH I ||

cH, - CH,-C CH CH, » CH, ~CH=C-CH-CH, + CH, C-CH-CH, , CH, C=C-CH
(X) () (4}

r

A XgtYgtZz
B.ZgtYgtX
CZgtXgty

D.YgtZgtX

Answer: C

° Watch Video Solution

30. The rate of elimination is fastest in

A.Ph—CHy, — CH, — F

B.Ph— C —CH, — CH, — F

||
o

C.Ph—-O-CHy, —CHy; — F


https://dl.doubtnut.com/l/_ZB2f8CubWeGv
https://dl.doubtnut.com/l/_6yJxrvrSkfdW

D.CH; — CH, — CH, — F

Answer: B

° Watch Video Solution

APSP PART-2

1. An alkyl bromide produces a single alkene when it reacts with sodium

ethoxide and ethanol. This alkene undergoes hydrogenation and

produces 2-methylbutane. What is the alkybromide ?

A. 1-bromo-2-methylbutane

B. 1-bromobutane

C. 1-bromo-2,2-dimethylpropane

D. 2-bromo-2-methylbutane

Answer: A



https://dl.doubtnut.com/l/_6yJxrvrSkfdW
https://dl.doubtnut.com/l/_WUJo2v02Wd1M

L T vvaldil vidcoO o01ution J

2. Which of the following most readily undergoes E5 elimination with a

strong base?

A. 2-bromopentane

B. 2-bromo-2-methylbutane

C. 1-bromo-2,2dimethyl propane

D. 2-bromo-3-methylbutane

Answer: B

o Watch Video Solution

3. An alkyl chloride produces a single alkene on reaction with sodium
ethoxide and ethanol. The alkene further undergoes hydrogenation to
yield 2- methylbutane. Identify the alkyl chloride from amongst the

following


https://dl.doubtnut.com/l/_WUJo2v02Wd1M
https://dl.doubtnut.com/l/_NAKuB0myZz4d
https://dl.doubtnut.com/l/_7GFrLqWSAZBe

A.CICH,CH(CH;)CH,CH,
B. CICH,CH,CH,CH,
C.CICHC(CH,),CHs

D. CH;C(Cl)(CH;)CH,CHs

Answer: A

o Watch Video Solution

4.0n heating glycerol with conc. H,50, ,a compound is obtained which

has bed odour. The compound is

A. ethylene glycol

B. allyl alcohol

C. acrolein

D. glycerol sulphate

Answer: C



https://dl.doubtnut.com/l/_7GFrLqWSAZBe
https://dl.doubtnut.com/l/_3Pocy2ZHxpxl

| ° Watch Video Solution

5. n-propyl bromide on treatment with ethanolic potassium hydroxide

produce

A. propyne

B. propene

C. propane

D. propanol

Answer: B

° Watch Video Solution

6. The peroxide effect occurs by :

A. ionic mechanism

B. heterolytic fission of double bond


https://dl.doubtnut.com/l/_3Pocy2ZHxpxl
https://dl.doubtnut.com/l/_73O9M8PF1vxy
https://dl.doubtnut.com/l/_WCiSS0XwcpG2

C. homolytic fission of double bond

D. free radical mechanism

Answer: D

° Watch Video Solution

7. Acid catalysed dehydration of 2-pentanol would give

A. 1-pentene as a major product

B. cis 2-pentene as a major product

C. trans-2-pentene as a major product

D. cis- and trans - 2-pentene in equal amount.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_WCiSS0XwcpG2
https://dl.doubtnut.com/l/_X6OD4LzPwoXA

8. The major product formed in the following reactions is :

B~V NS VT jor e

Heat

CH,
(B) ﬁCHJ

G)
)E>—o
I

H,C CH,
C.
CH,
p. HC
Answer: C

| o WAL _L vl . e~ _ ..o


https://dl.doubtnut.com/l/_vfyuPnBiUtA2

L vvallll vIiUCO o0VIULIVII )

9. Arrange the following compounds in order of decreasing reactivity in

the elimination (bimolecular ) reaction with CoH;ONa

(i) Q_{'_‘Br (ii) +' (i) “‘-—~CI ) +p

AlIl>1>1III >1V
B.IV > IIT > 1 > 11
CIII >1>1I>1V

D.I > III > 1V > 11

Answer: A

o Watch Video Solution

10. Compound X on treatment with HI give Y, Y on treatment with

ethanolic KOH gives Z (an isomer of X). Ozonolysis of Z (with Hy0O,


https://dl.doubtnut.com/l/_vfyuPnBiUtA2
https://dl.doubtnut.com/l/_knEkCUQ7pMhw
https://dl.doubtnut.com/l/_KGwdR7D5Ufqb

workup) gives a two -carbon carboxylic acid and four carbon ketone .

Hence, X is :

A. 2-methyl-2-pentene

B. 4-methyl-1-pentene

C. 2,3-dimethyl-2-butene

D. 3-methyl-1-pentene

Answer: D

o Watch Video Solution

11. The major product of the following reactions is :

- OH

(i) H;PO,, 150°C
(ii) CgHsCOOOH



https://dl.doubtnut.com/l/_KGwdR7D5Ufqb
https://dl.doubtnut.com/l/_84OBRvnB1K82

A
o)
(B) é
3
OH

CHO
m{(_
. CHO

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_84OBRvnB1K82

>=<CH3
ON CH,

The carbanion expels a leaving group LG to yield an alkene as shown

12.

above by

A. E1cB mechanism

B. E1 mechanism

C. E2 mechanism

D. Such a reaction does not take place

Answer: A

o Watch Video Solution

13. The compound that is most reactive with alcoholic KOH is

A.CHy = CH — Br


https://dl.doubtnut.com/l/_0zZkgGiRCk4T
https://dl.doubtnut.com/l/_7Utrp5bnWmLO

B. CH3CHQBT‘
C.(CH;),CH — Br

D. CH3COCHQCH23’I"

Answer: D

o Watch Video Solution

14. Four processes are indicated below :
P

{” : ' B 00 peraade () aleonole K.

U1 M () aqueous NaOH v

{m

? Br

(1 O/ (1) Mg. ether (i) CHO (1 =
Br
@B{‘

(i} ag KOH (i) Cﬁi&ﬂsr etnes 40,

W ,,,,,,,,,

(IV)

The processes that do not produce 1-methylcyclohexanol are


https://dl.doubtnut.com/l/_7Utrp5bnWmLO
https://dl.doubtnut.com/l/_Ca6STxqkTHkR

All, IV

B.I, I

C. 1, IV

D. 1, 1l

Answer: D

o Watch Video Solution

15. n-Butylcyclohexane is formed through the following sequence of
reactions.

() NN, ’ CqHy
X PCL. 0°C Y {i) NaNH, (excess) 7 RN N s
> e > i CH
(ihH g::.)) }fjﬁ’t A, pressure v

In the above scheme of reactions, "X" is -

COCHO

(A)


https://dl.doubtnut.com/l/_Ca6STxqkTHkR
https://dl.doubtnut.com/l/_kMtUG9BFj4S1

COCH,

Q)
B.

COCH,0H
o)
C.
O-CH,~CH,
")
D.
Answer: B

o Watch Video Solution

16. An alkyl halide (X) on reaction with ethanolic sodium hydroxide forms
an alkene (Y) which on further reaction with HBr gives the same alkyl
halide.The alkene (Y) on reaction with HBr/ peroxide followed by reaction
with Mg metal followed by reaction with HCN produces an aldehyde (2).Z

is :


https://dl.doubtnut.com/l/_kMtUG9BFj4S1
https://dl.doubtnut.com/l/_FMVxjB5uuaLm

B.
n/EOO
C.
CHO
(D)
D.
Answer: B::C

o Watch Video Solution

17. Spodoptol, a sex attractant, produced by a female fall armyworm moth,
can be prepared as follows. The structure of Spodoptol is (pK, : terminal

alkynes ~ 25, alcohols ~ 17)

i. NaNH (excess)
ii. mGHsBr (1eq)
jii, Halind t
HO—CH, (CH,); C ==CH=————"—— Spodoptol

An — C4H9 -0 — CH2 - (CH2)7 — HC = CH2


https://dl.doubtnut.com/l/_FMVxjB5uuaLm
https://dl.doubtnut.com/l/_Ey7BlpGlKOrW

H
® oo

HO—CHz—(CHz )7 n-C4H9
B.
H ‘C«s H9
c) —
HO-CH,~CHz)r H
C.

D. HO — CH, — (CHy),, — CH,

Answer: B

o Watch Video Solution

APSP PART-3

1. Rate of Bimolecular elimination (E2) reaction for the following :

H H
0 M Cl Bese , (ii) %‘/H —Base
E2 E2
c



https://dl.doubtnut.com/l/_Ey7BlpGlKOrW
https://dl.doubtnut.com/l/_LsEf9eZnPSi1

A. Same for both conformers

B.lgtll

C.iigtl

D. Can't say anything about rate of E-2 reaction

Answer: C

o Watch Video Solution

2. Which is incorrect about alkyl bromide having molecular formula

C5H11BT'

A.Only one isomeric alkyl bromide undergoes E1 elimination at the

fastest rate

B. Only one is incapable of reacting by the E2 mechanism

C. Only one isomer gives a single alkene on E2 elimination


https://dl.doubtnut.com/l/_LsEf9eZnPSi1
https://dl.doubtnut.com/l/_Gye1T4fnRQ2r

D. 2-Bromopentane gives the most complex mixture of alkenes on E2

elimination

Answer: C

o Watch Video Solution

3.The compound X' is
’ Q

z’"—\<”::’ HSO. g _HO., 5

(€)
C. OH OH


https://dl.doubtnut.com/l/_Gye1T4fnRQ2r
https://dl.doubtnut.com/l/_xcSpmRIkT0JA

D. OH OH

Answer: C

o Watch Video Solution

4. When the all-cis isomer of CgHgClg (1,2,3,4,5,6 -Hexachlorohexane) is

heated with alc. KOH, the most probable product is :

Cl
C
(A)
A Cl
B. Lo
(C)


https://dl.doubtnut.com/l/_xcSpmRIkT0JA
https://dl.doubtnut.com/l/_JyNjNPd6YKBz

Cl

(D)

Ci

Answer: B

o Watch Video Solution

CHDyMgI Conc.H2504
> X >

5.CH,O Y

H;0°9 A

In the above reaction compound X & Y respectively will be

OH

|
A.CHD — CH, — OH, CHO — CHO

B.CHD, — CH, — OH, CHO — CHO

C. CHD2 - CHZ - OH, CD2 — CH2

D. |C’HD — CH, — OH,CD, = CD,

OH

Answer: C



https://dl.doubtnut.com/l/_JyNjNPd6YKBz
https://dl.doubtnut.com/l/_bcGEOuJTbw1G

| o Watch Video Solution

6. Major product of the given reaction is :

Br

~xBr  EtOK /EtOH (excess |
A

sf Br

w O
A. ~%Br
Br

(X


https://dl.doubtnut.com/l/_bcGEOuJTbw1G
https://dl.doubtnut.com/l/_GzJA1WwrX7aB

Answer: C

° Watch Video Solution

CH,
Conc. H,50,/60°C_,

. oH

The product is -

A.
(3 Me
© e
B.
e (0] Me
©"~
C.

D) Me\<5>/Me


https://dl.doubtnut.com/l/_GzJA1WwrX7aB
https://dl.doubtnut.com/l/_L2pDM0Pjo6Tt

Answer: A

° Watch Video Solution

8. Which one of the following hyxachlorocyclohexane is least reactive and

which one is most reactive in E2 reactions with a strong base fro

dehydrohalogenation.

cl ’ ) Yol I

cl cl c1d
f
ct C CiY” ™y

-
Cl o
I Il

A. | least & Il least
B. Il least & | most
C. 1l least & | most

D. lll least & Il most

Answer: B

Cl

4 Gl

Cl

o Watch Video Solution



https://dl.doubtnut.com/l/_L2pDM0Pjo6Tt
https://dl.doubtnut.com/l/_o9plplIAmp6Z

9. In which of the following reactions the correct major products are

mentioned

g
\é\\\CD LN : A\CD,

NaOE\
E\OH
“Wew,
©) C(

Answer: B::C

o Watch Video Solution

10. When ethyl bromide is added to potassium t-butoxide, the product is
ethyl t-butyl ether.

CH30H2 — Br + (CH3)3C — OK — (CH3) C -0 - CHQCH3

ethyl bromide ptassium t-butoxide ethyl t-butyl ether

Which of the following statements is/are correct ?


https://dl.doubtnut.com/l/_o9plplIAmp6Z
https://dl.doubtnut.com/l/_nC90Dl4TSgIm
https://dl.doubtnut.com/l/_fUF2pyWNIUNF

A.when the concentration of Ethyl bromide is doubled rate is also

doubled.

B. when the concentration of potassium t-butoxide is tripled and the

concentration of ethyl bromide is doubled rate will increases six

times.

C. Elimination product dominates when temperature is raised.

D. when the concentration of potassium t-butoxide is tripled and the

concentration of ethyl bromide is doubled rate will increase three

times.

Answer: A::B::C

o Watch Video Solution

11. Which of the following statement are true ?

A. Bridgehead halide are inert for both Sy1 and Sy2 reaction.


https://dl.doubtnut.com/l/_fUF2pyWNIUNF
https://dl.doubtnut.com/l/_G9JucTdxH4PV

B. The fist step in both Sy 1 and E1 reaction is same

C. Sy2 reaction proceed with total retention of configuration .

D. E2 elimination are favoured by weak base

Answer: A::B

° Watch Video Solution

12. Which of the following reaction has the correct major product .
R R e

W/Kr CH,CH,0" M
Br
© YK/ H,0 Y\/

HCCD

D.

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_G9JucTdxH4PV
https://dl.doubtnut.com/l/_n2d3zuJy07c8

13. Which of the following statements is/are correct for alkyl halide ?

A.In most unimolecular reactions of alkyl halide Sy1 reactions is

favoured over E1 reaction

B.E1 mechanism is favoured as compared to Syl mechanism by

branching at 8 carbon.

C.In unimolecular reaction, increasing the temperature favours E1

mechanism

D. E1 reactions are favoured by the use of weak bases and by the use

of polar solvents.

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_2JITAdIaGCwC

14. The correct statements about the following reaction are
OH

0, ALO, conc. H,SO, le)
R)¢—— —— > (P 2> (Q) major product
ZWHO A a ) Zn/H,o( ) major p

)

[Hint: Al,O3 gives satyzeff's product without any rearrangement]

(A) The product P is O@
A.

¢}

(B) The product Qs C\:tj

P
D. ©ome (I oo s i

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_dWo3UelcJYDk

15. The order of following reaction is :

Ha O,

H,SO, /e |

O e
Ro s

o Watch Video Solution

16. Total number of alkenes obtained by dehydration of 3,4-diethylhexan-

2-ol in acidic medium ?

o Watch Video Solution

CHs - I

l X [Number of i Pr g (all p
CH;——T—’CH—CHa —GHOH |

Y [Number of elimination products including sterecisomer{all passible)}

H;C Br
17. Report your answer as XY

Report your answer as XY

| ° Wiak A \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_mjRMeRaOX89z
https://dl.doubtnut.com/l/_fIukibA4yuzZ
https://dl.doubtnut.com/l/_aSceRtXSu5yJ
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18. The number of products (stereoisomers) formed in the following

reaction is (consider only major product)
Ph
CH——— ¢
CH;
H alc. KOH (excess
o " (—-2HCI) |
CH; foee G (mefitl

Ph

o Watch Video Solution

19. The elimination reactions mainly involve three mechanism E1,E2 and
E1cB. If the leaving group departs before B-proton (H © ion) then it is ET
mechanism. If proton is taken off first before leaving group it is E1cB
mechanism.The pure E2 involves both B-Hydrogen and leaving group
departing simutaneously. If acidity of 8-Hydrogen increases and leaving

group ability decreases then E1cB mechanism increases.


https://dl.doubtnut.com/l/_aSceRtXSu5yJ
https://dl.doubtnut.com/l/_T6ZbKcnCnTnm
https://dl.doubtnut.com/l/_r4XAK5ULiYJz

. H_Ph
Br
H SO (excess)/a

\HBr

— P (major)

Product P is

Ph

(A)

B.
Ph
(C)
C.
D.
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_r4XAK5ULiYJz

20. The elimination reactions mainly involve three mechanism E1,E2 and
E1cB. If the leaving group departs before S-proton (H © ion) then it is E1
mechanism. If proton is taken off first before leaving group it is E1cB
mechanism.The pure E2 involves both [-Hydrogen and leaving group
departing simutaneously. If acidity of 8-Hydrogen increases and leaving
group ability decreases then E1cB mechanism increases.

(h_~CH,

| S Et ’

n-Bu
Mf‘r

The alkene formed as a major product in the above elimination reaction is

A.CHy, = CH>

B.CHs — CHy; — CH = CH,

(C)

C. Me


https://dl.doubtnut.com/l/_r4XAK5ULiYJz
https://dl.doubtnut.com/l/_1RwW5AIEGEuu

(D)

Me

Answer: A

o Watch Video Solution

21. The elimination reactions mainly involve three mechanism E1,E2 and
E1cB. If the leaving group departs before B-proton (H* = © ion) then it is
E1 mechanism. If proton is taken off first before leaving group it is E1cB
mechanism.The pure E2 involves both B-Hydrogen and leaving group
departing simutaneously. If acidity of 8-Hydrogen increases and leaving
group ability decreases then E1cB mechanism increases.

Which of the following substrate will undergo fastest reaction through

E1cB route


https://dl.doubtnut.com/l/_1RwW5AIEGEuu
https://dl.doubtnut.com/l/_WJu9mkPLn04p

CH;"‘CH';%MeZ

(A)

O

A.
&
CH,~CH,SMe,
B. OCH,
CH,—CHgMez
C. Cl
P
CH,-CH,SMe;
2O}
D NO>
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_WJu9mkPLn04p

22. Match List | (Reaction) with List Il (Type of reaction ) and select the

correct answer using the code given below the lists :

List |
ocy T e .
/ CH, | Listnl ]
//\x (%H ‘\
(P) CH.O™ "™~ 0
CH,0 CH,CH,0 1) | E
CH,0 8
_Br -
Q ” CH,CH,0"
CH,CH,0D @ |E2
CH CH,-8Br
Ag,0, moist
} (3) | E1cB
"/’P
C CH, - CH, (4) | Sw1

(S) Conc. HyPO,A
v’__J @/ OH

A P Q R S
1 3 4 2
B P Q R S
3 4 2 1
c P QR S
1 3 2 4
D P Q R S
2 3 4 1
Answer: D

| o Watch Video Solution


https://dl.doubtnut.com/l/_MwGJGRyhOdp6



https://dl.doubtnut.com/l/_MwGJGRyhOdp6

